
6 = 2 × 3

 6 = 1 × 6 

8 = 23

12 = 22 × 3

90 = 2 × 32 × 5



12 = 22 × 3 

12 × 3 = 22 × 32 (2 × 3)2 

75 = 3 × 52 

75 × 3 = 32 × 52 

(3 × 5)2 

60 = 22 × 3 × 5 

60 × 3 × 5 = 22 × 32 × 52 

(2 × 3 × 5)2 



  

 𝑎(𝑏 + 𝑐) = 𝑎𝑏 + 𝑎𝑐 

 𝑎𝑏 + 𝑎𝑐 = 𝑎(𝑏 + 𝑐) 

𝑎𝑏 + 𝑎𝑐  𝑎 𝑎(     )  𝑎 

8𝑥 + 10𝑦 = 2(4𝑥 + 5𝑦)

𝑥2 − 𝑥𝑦 = 𝑥(𝑥 − 𝑦)

 𝑥 𝑥(     )

3𝑎2𝑏 − 6𝑎𝑏2 = 3𝑎𝑏(𝑎 − 2𝑏)

 3𝑎𝑏 3𝑎𝑏(     )

5𝑎 − 20𝑏 30𝑥𝑦 − 18𝑧𝑥 21𝑎2 − 14𝑎𝑏 + 7𝑎 16𝑥2𝑦𝑧 + 24𝑥𝑦2𝑧

5(𝑎 − 4𝑏)

6𝑥(5𝑦 − 3𝑧)  6𝑥 6𝑥(     )

7𝑎(3𝑎 − 2𝑏 + 1)  7𝑎 7𝑎(     )

8𝑥𝑦𝑧(2𝑥 + 3𝑦)  8𝑥𝑦𝑧 8𝑥𝑦𝑧(     )



𝑥2 + 5𝑥 + 6 𝑥2 − 5𝑥 − 6 

   (𝑥 + 2)(𝑥 + 3)

𝑥2 + 5𝑥 + 6 

(𝑥+ ? )(𝑥+ ? ) 𝑥2 + 5𝑥 + 6 

(𝑥 + 𝑎)(𝑥 + 𝑏) 𝑥2 + (𝑎 + 𝑏)𝑥 + 𝑎𝑏 

𝑥2 + 5𝑥 + 6 = (𝑥 + 2)(𝑥 + 3) 

 (𝑥 + 2)(𝑥 + 3) 

(𝑥 + 2)(𝑥 + 3) = 𝑥2 + 5𝑥 + 6 

𝑥2 − 5𝑥 − 6 = (𝑥 − 6)(𝑥 + 1)

𝑥2 − 5𝑥 − 6 = (𝑥 − 6)(𝑥 + 1) 

 (𝑥 − 6)(𝑥 + 1) 

(𝑥 − 6)(𝑥 + 1) = 𝑥2 − 5𝑥 − 6 

𝑥2 + 6𝑥 + 8 𝑥2 + 3𝑥 − 10 𝑥2 − 7𝑥 + 12 𝑥2 − 15𝑥𝑦 − 16𝑦2

(𝑥 + 2)(𝑥 + 4)

(𝑥 + 5)(𝑥 − 2)

(𝑥 − 3)(𝑥 − 4)

(𝑥 − 16𝑦)(𝑥 + 𝑦)

−16𝑦2 −𝑦 16𝑦 −2𝑦 8𝑦 −4𝑦 4𝑦 −8𝑦 2𝑦 −16𝑦 𝑦

−15𝑥𝑦 



𝑥2 + 6𝑥 + 9 𝑥2 − 8𝑥 + 16 

4𝑎2 + 20𝑎𝑏 + 25𝑏2 

   (𝑥 + 3)2

𝑥2 + 6𝑥 + 9 

𝑥2 + 6𝑥 + 9 

( )2 =
2

+ 2 × × +
2

𝑥2 + 6𝑥 + 9 𝑥2  𝑥 

 (𝑥 + 3)2 

(𝑥 + 3)2 𝑥2 + 6𝑥 + 9

𝑥2  6𝑥 

𝑥 × 3 6𝑥 

 𝑥2 + 6𝑥 + 9 (𝑥 + 3)2

 (𝑥 − 4)2

 (𝑥 − 4)2 −8𝑥 

𝑥 × (−4) 

−8𝑥  𝑥2 − 8𝑥 + 16 (𝑥 − 4)2

4𝑎2 + 20𝑎𝑏 + 25𝑏2 = (2𝑎 + 5𝑏)2

4𝑎2 2𝑎 25𝑏2 𝑏

(2𝑎 + 5𝑏)2

2𝑎 × 5𝑏 20𝑎𝑏 (2𝑎 + 5𝑏)2

𝑥2 + 16𝑥 + 64 𝑥2 − 18𝑥 + 81 9𝑎2 + 42𝑎𝑏 + 49𝑏2 36𝑥2 − 60𝑥𝑦 + 25𝑦2

(𝑥 + 8)2 (𝑥 + 8)2

(𝑥 − 9)2

(𝑥 − 9)2

(3𝑎 + 7𝑏)2

9𝑎2 3𝑎 49𝑏2 7𝑏 (3𝑎 + 7𝑏)2

(6𝑥 − 5𝑦)2

36𝑥2 6𝑥 25𝑦2 5𝑦 (6𝑥 − 5𝑦)2



𝑥2 − 9 4𝑥2 − 25𝑦2 

𝑎2 − 𝑏2 = (𝑎 + 𝑏)(𝑎 − 𝑏)  (𝑥 + 3)(𝑥 − 3)

𝑥2 − 9 

𝑥2 − 9 

( + ) ( − ) =
2

−
2

𝑥2 − 9 𝑥2  𝑥 

 (𝑥 + 3)(𝑥 − 3) 

4𝑥2 − 25𝑦2 = (2𝑥 + 5𝑦)(2𝑥 − 5𝑦)

4𝑥2 − 25𝑦2 4𝑥2  2𝑥 25𝑦2  5𝑦 

 (2𝑥 + 5𝑦)(2𝑥 − 5𝑦) 

𝑥2 − 64 9𝑥2 − 49𝑦2 −36𝑥2 + 25𝑦2

(𝑥 + 8)(𝑥 − 8) (3𝑥 + 7𝑦)(3𝑥 − 7𝑦) (5𝑦 + 6𝑥)(5𝑦 − 6𝑥)

−36𝑥2 + 25𝑦2 = 25𝑦2 − 36𝑥2 



2𝑥2 + 12𝑥 + 16

8𝑥 + 10𝑦 = 2(4𝑥 + 5𝑦)

𝑥2 − 5𝑥 − 6 = (𝑥 − 6)(𝑥 + 1)

4𝑎2 + 20𝑎𝑏 + 25𝑏2 = (2𝑎 + 5𝑏)2

4𝑥2 − 25𝑦2 = (2𝑥 + 5𝑦)(2𝑥 − 5𝑦)

2𝑥2 + 12𝑥 + 16 = 2(𝑥2 + 6𝑥 + 8) = 2(𝑥 + 2)(𝑥 + 4)

3𝑥2 + 18𝑥 + 27 4𝑎𝑥2 − 20𝑎𝑥𝑦 + 25𝑎𝑦2 72𝑥𝑎2 − 50𝑥𝑏2 5𝑎𝑥2 − 25𝑎𝑥𝑦 + 30𝑎𝑦2

3𝑥2 + 18𝑥 + 27

= 3(𝑥2 + 6𝑥 + 9)

= 𝟑(𝒙 + 𝟑)𝟐

4𝑎𝑥2 − 20𝑎𝑥𝑦 + 25𝑎𝑦2

= 𝑎(4𝑥2 − 20𝑥𝑦 + 25𝑦2)

= 𝒂(𝟐𝒙 − 𝟓𝒚)𝟐

72𝑥𝑎2 − 50𝑥𝑏2

= 2𝑥(36𝑎2 − 25𝑏2)

= 𝟐𝒙(𝟔𝒂 + 𝟓𝒃)(𝟔𝒂 − 𝟓𝒃)

5𝑎𝑥2 − 25𝑎𝑥𝑦 + 30𝑎𝑦2

= 5𝑎(𝑥2 − 5𝑥𝑦 + 6𝑦2)

= 𝟓𝒂(𝒙 − 𝟐𝒚)(𝒙 − 𝟑𝒚)

(𝑥 + 2)2 − 3(𝑥 + 2) − 4 

(𝑥 − 2)(𝑥 + 3)

𝑥 + 2 = 𝐴 𝐴2 − 3𝐴 − 4 

(𝐴 − 4)(𝐴 + 1)  𝐴 

(𝑥 + 2 − 4)(𝑥 + 2 + 1) 

(𝑥 − 2)(𝑥 + 3) 

(𝑥 + 2)2 − 3(𝑥 + 2) − 4 = 𝑥2 + 4𝑥 + 4 − 3𝑥 − 6 − 4 = 𝑥2 + 𝑥 − 6 = (𝑥 − 2)(𝑥 + 3)

(𝑥 − 1)2 + 2(𝑥 − 1) − 8 𝑥(2𝑦 − 3) + 4(2𝑦 − 3)

𝑥 − 1 = 𝐴

𝐴2 + 2𝐴 − 8 = (𝐴 + 4)(𝐴 − 2)

𝐴 

(𝑥 − 1 + 4)(𝑥 − 1 − 2) = (𝒙 + 𝟑)(𝒙 − 𝟑)

2𝑦 − 3 = 𝐴 𝑥𝐴 + 4𝐴

𝐴(𝑥 + 4)

𝐴 (2𝑦 − 3)(𝑥 + 4) = (𝒙 + 𝟒)(𝟐𝒚 − 𝟑)

(2𝑦 − 3)(𝑥 + 4) 



𝑥𝑦 − 𝑥 + 𝑦 − 1 

𝑥𝑦 − 𝑥 + 𝑦 − 1

 (𝑥 + 1)(𝑦 − 1)

𝑥𝑦 − 𝑥 + 𝑦 − 1 

 𝑥𝑦 − 𝑥  𝑥 

 (𝑦 − 1) 

𝑦 − 1 = 𝐴  𝑥𝐴 + 𝐴  𝐴  𝐴(𝑥 + 1) 𝐴 

 (𝑦 − 1)(𝑥 + 1) 

 (𝑥 + 1)(𝑦 − 1) 

𝑥𝑦 − 𝑥 + 𝑦 − 1 (𝑥 +▲)(𝑦 +△) 

(𝑥 +▲)(𝑦 +△) 𝑥𝑦 − 𝑥 + 𝑦 − 1 

(𝑥 + 1)(𝑦 − 1) 

𝑎𝑏 − 2𝑎 + 2𝑏 − 4 2𝑥𝑦 − 5𝑦 − 2𝑥 + 5

𝑎𝑏 − 2𝑎 + 2𝑏 − 4 = 𝑎(𝑏 − 2) + 2(𝑏 − 2)

𝑏 − 2 = 𝐴 𝑎𝐴 + 2𝐴 = 𝐴(𝑎 + 2)

𝐴 (𝑏 − 2)(𝑎 + 2) = (𝒂 + 𝟐)(𝒃 − 𝟐)

(𝑏 − 2)(𝑎 + 2) 

2𝑥𝑦 − 5𝑦 − 2𝑥 + 5 = 𝑦(2𝑥 − 5) − (2𝑥 − 5)

2𝑥 − 5 = 𝐴 𝑦𝐴 − 𝐴 = 𝐴(𝑦 − 1)

𝐴 (𝟐𝒙 − 𝟓)(𝒚 − 𝟏)



𝑥2 + 2𝑥𝑦 + 𝑦2 − 1 

𝑥2 + 2𝑥𝑦 + 𝑦2 − 1 

(𝑥 + 𝑦 + 1)(𝑥 + 𝑦 − 1)

𝑥2 + 2𝑥𝑦 + 𝑦2 − 1  (𝑥 + 𝑦)2 

 𝑥 + 𝑦 = 𝐴 

 𝐴2 − 1 

 (𝐴 + 1)(𝐴 − 1)  𝐴 (𝑥 + 𝑦 + 1)(𝑥 + 𝑦 − 1) 

𝑎2 − 2𝑎𝑏 + 𝑏2 − 36 25𝑥2 + 40𝑥𝑦 + 16𝑦2 − 9𝑧2

𝑎2 − 2𝑎𝑏 + 𝑏2 − 36 = (𝑎 − 𝑏)2 − 36

𝑎 − 𝑏 = 𝐴 𝐴2 − 36 = (𝐴 + 6)(𝐴 − 6)

𝐴 (𝒂 − 𝒃 + 𝟔)(𝒂 − 𝒃 − 𝟔)

25𝑥2 + 40𝑥𝑦 + 16𝑦2 − 9𝑧2 = (5𝑥 + 4𝑦)2 − 9𝑧2

5𝑥 + 4𝑦 = 𝐴 𝐴2 − 9𝑧2 = (𝐴 + 3𝑧)(𝐴 − 3𝑧)

𝐴 (𝟓𝒙 + 𝟒𝒚 + 𝟑𝒛)(𝟓𝒙 + 𝟒𝒚 − 𝟑𝒛)

3𝑛  𝑛 

1

3
 

 𝑎  𝑥  𝑛 

 𝑚  𝑛 

5𝑛 𝑛

7𝑚, 7𝑛 𝑚, 𝑛

7𝑚 + 7𝑛 = 7(𝑚 + 𝑛)

𝑚 + 𝑛 7(𝑚 + 𝑛)



  𝑛, 𝑛 + 1  𝑛 

 𝑛  𝑛 + 1 

𝑛 − 1, 𝑛, 𝑛 + 1  𝑛 

 𝑛  𝑛 + 1 

 𝑛 + 2 𝑛, 𝑛 + 1, 𝑛 + 2 

 𝑛 

 𝑛 − 1  𝑛 + 1 

𝑛 − 1, 𝑛, 𝑛 + 1

𝑛 − 1, 𝑛, 𝑛 + 1   𝑛

(𝑛 − 1) + 𝑛 + (𝑛 + 1) = 3𝑛

𝑛 3𝑛

 𝑛 

  2𝑛  𝑛 

 𝑎  𝑥  𝑛 

 𝑚  𝑛 

2𝑚, 2𝑛  𝑚, 𝑛 

2𝑚 + 2𝑛 = 2(𝑚 + 𝑛) 

𝑚 + 𝑛 2(𝑚 + 𝑛) 



2𝑛 − 1  𝑛 2𝑛 + 1  𝑛 

2𝑚, 2𝑛 − 1  𝑚, 𝑛 

2𝑚 + (2𝑛 − 1) = 2𝑚 + 2𝑛 − 1

= 2(𝑚 + 𝑛) − 1

𝑚 + 𝑛 2(𝑚 + 𝑛) − 1 

2𝑚 + 2𝑛

2𝑚 + 2𝑛



2𝑛, 2𝑛 + 2  𝑛 

2 𝑛  2𝑛 + 2 

2𝑛 − 1, 2𝑛 + 1  𝑛 

2 𝑛 − 1 

 2𝑛 + 1 

2 𝑛 + 1  2𝑛 + 3 2𝑛 + 1, 2𝑛 + 3

2𝑛 − 1, 2𝑛 + 1

2𝑛, 2𝑛 + 2  𝑛 

2𝑛 + (2𝑛 + 2) = 4𝑛 + 2 = 2(𝑛 + 1)

𝑛 + 1 2(𝑛 + 1) 

2𝑛, 2𝑛 + 2  𝑛 

2𝑛 − 1, 2𝑛 + 1  𝑛 

(2𝑛 − 1) + (2𝑛 + 1) = 4𝑛

𝑛 4𝑛 

2𝑛 − 1, 2𝑛 + 1  𝑛 

4𝑛 



𝑛, 𝑛 + 1 𝑛

 (𝑛 + 1)2 − 𝑛2 = (𝑛2 + 2𝑛 + 1) − 𝑛2 = 2𝑛 + 1

𝑛 + (𝑛 + 1) = 2𝑛 + 1

𝑛, 𝑛 + 1  𝑛 

2𝑚 + 1, 2𝑛 + 1 𝑚, 𝑛

(2𝑚 + 1)2 + (2𝑛 + 1)2 = (4𝑚2 + 4𝑚 + 1) + (4𝑛2 + 4𝑛 + 1)

= 4𝑚2 + 4𝑚 + 1 + 4𝑛2 + 4𝑛 + 1 = 4𝑚2 + 4𝑚 + 4𝑛2 + 4𝑛 + 2

= 2(2𝑚2 + 2𝑚 + 2𝑛2 + 2𝑛 + 1)

2𝑚2 + 2𝑚 + 2𝑛2 + 2𝑛 + 1 2(2𝑚2 + 2𝑚 + 2𝑛2 + 2𝑛 + 1)

2𝑚 + 1, 2𝑛 + 1  𝑛 

 𝑎 

𝑎 × 𝑎 = 𝑎2

(𝑎 + 3)(𝑎 − 3) = 𝑎2 − 9

(𝑎2 − 9) − 𝑎2 = −9 

𝟗



(𝑥 + 2𝑎)2 − 𝑥2 = 𝑥2 + 4𝑎𝑥 + 4𝑎2 − 𝑥2 = 𝟒𝒂𝒙 + 𝟒𝒂𝟐

𝑥 + 2𝑎 

(𝑥 + 𝑎) × 4 = 𝟒𝒙 + 𝟒𝒂

 
𝑎

2
 

 𝑥 + 𝑎 

 4𝑎𝑥 + 4𝑎2 𝑎 × (4𝑥 + 4𝑎) = 4𝑎𝑥 + 4𝑎2

𝑟 𝑎

𝑆

𝑆 = 𝑎

𝑆 = 𝜋(𝑟 + 𝑎)2 − 𝜋𝑟2 = 𝜋(𝑟2 + 2𝑎𝑟 + 𝑎2) − 𝜋𝑟2

= 𝜋𝑟2 + 2𝜋𝑎𝑟 + 𝜋𝑎2 − 𝜋𝑟2 = 2𝜋𝑎𝑟 + 𝜋𝑎2

 2𝑟 + 𝑎 = 𝜋(2𝑟 + 𝑎) = 2𝜋𝑟 + 𝜋𝑎 

𝑎 = 𝑎(2𝜋𝑟 + 𝜋𝑎) = 2𝜋𝑎𝑟 + 𝜋𝑎2

𝑆 = 𝑎


